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Sketch the parabola, indicating all the features above
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8)

x? —4x—-12

For the parabola y

Find the length of thw radius in each circle . Answer in simlest surd form where appropriate .

4.

Find

i)

the y-intercept

x? +y? =49

a)

the x-intercept

if)

2497 =28

b)

LN

the axis of s‘fmmeﬁy

ii)

x? +y?=1225

c)

the vertex .

iv)
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6.

Find the equation of given curve {use = ax® +d )

Find the equation of hyperbola (y =

Determine the equation of the given graph

Rils

Determine the equations of the parabolas below

Leave your answer in the form y =ax® + bx+c '
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2. Match each equation with its sketch  (please write the equation under its sketch )
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THE PARABOLA AND OTHER NUMBER PLANE GRAPHS TOPIC TEST
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For the parabola y =x* —4x-12
Find
. . U x =0
i) the y-intercept y - (O)L—’q(O)—l?
Sy T =~ (2
if) the x-intercept
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5= -4 g=x 425 b 1T ) ~
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F=-6,1 d = X (LA4D) ~6(xtR) / xréyso or >c31:o>//
o the axi S‘j’(x "éDCX_fZ) 7§=é 0 X =-7
if) he axis of symmetry .-)C'(V?WWUCH\Q—Z4
)( - ’__—b— _4’_
24 ) I’fz
)X = -4 f : -
—_— R S -
BT axis of sgmmetef = 2

iv)  the vertex

y

S X =2 into thae ey ¢ Y =x 2 -4x -2

Y= (D> -4(2)-12
Y= -4
Y= ~16
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v) Sketch the parabola, indicating all the features above
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Find the fength of thw radius in each circle . Answer in simlest sufd form where appropriate .

a) x? +y% =49
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c) x%+y?=1225

x'l-hjb:r’z /

r?-(2.25

o

F=v12.25 /)
-.’V‘a_d,"u,:;.g__s (A/VVLXj _ _ .




-2

6.

7.

p

Find the equation of given curve (use = ax® + d )
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Determine the equations of the parabolas below

Leave your answer in the form y = ax® +bx+c
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